

Convertir Celsius a Fahrenheit (D)

Estime o convierta las temperaturas.

$-23\text{ }^{\circ}\text{C} = \text{ ____ }^{\circ}\text{F}$

$-22\text{ }^{\circ}\text{C} = \text{ ____ }^{\circ}\text{F}$

$-40\text{ }^{\circ}\text{C} = \text{ ____ }^{\circ}\text{F}$

$-48\text{ }^{\circ}\text{C} = \text{ ____ }^{\circ}\text{F}$

$-66\text{ }^{\circ}\text{C} = \text{ ____ }^{\circ}\text{F}$

$73\text{ }^{\circ}\text{C} = \text{ ____ }^{\circ}\text{F}$

$-89\text{ }^{\circ}\text{C} = \text{ ____ }^{\circ}\text{F}$

$92\text{ }^{\circ}\text{C} = \text{ ____ }^{\circ}\text{F}$

$-56\text{ }^{\circ}\text{C} = \text{ ____ }^{\circ}\text{F}$

$-47\text{ }^{\circ}\text{C} = \text{ ____ }^{\circ}\text{F}$

$7\text{ }^{\circ}\text{C} = \text{ ____ }^{\circ}\text{F}$

$57\text{ }^{\circ}\text{C} = \text{ ____ }^{\circ}\text{F}$

$-78\text{ }^{\circ}\text{C} = \text{ ____ }^{\circ}\text{F}$

$17\text{ }^{\circ}\text{C} = \text{ ____ }^{\circ}\text{F}$

$55\text{ }^{\circ}\text{C} = \text{ ____ }^{\circ}\text{F}$

$48\text{ }^{\circ}\text{C} = \text{ ____ }^{\circ}\text{F}$

$46\text{ }^{\circ}\text{C} = \text{ ____ }^{\circ}\text{F}$

$91\text{ }^{\circ}\text{C} = \text{ ____ }^{\circ}\text{F}$

$-62\text{ }^{\circ}\text{C} = \text{ ____ }^{\circ}\text{F}$

$-56\text{ }^{\circ}\text{C} = \text{ ____ }^{\circ}\text{F}$

$-83\text{ }^{\circ}\text{C} = \text{ ____ }^{\circ}\text{F}$

$-74\text{ }^{\circ}\text{C} = \text{ ____ }^{\circ}\text{F}$

$22\text{ }^{\circ}\text{C} = \text{ ____ }^{\circ}\text{F}$

$-4\text{ }^{\circ}\text{C} = \text{ ____ }^{\circ}\text{F}$

$64\text{ }^{\circ}\text{C} = \text{ ____ }^{\circ}\text{F}$

$-56\text{ }^{\circ}\text{C} = \text{ ____ }^{\circ}\text{F}$

$25\text{ }^{\circ}\text{C} = \text{ ____ }^{\circ}\text{F}$

$-36\text{ }^{\circ}\text{C} = \text{ ____ }^{\circ}\text{F}$

$69\text{ }^{\circ}\text{C} = \text{ ____ }^{\circ}\text{F}$

$-69\text{ }^{\circ}\text{C} = \text{ ____ }^{\circ}\text{F}$